This document forms part of the
certification package issued by
TestSafe Australia.
Certificate Numbers:
IECEx TSA 14.0033X-2 & ANZEx 14.3016-2



5

- 47.6 —
—— 36,0 —==

3 MAIN SOCKETS
ON 35.0 PCD

PILOT SOCKET
ON 38.0 PCD ‘783/-0
23.0 18.0 MIN, =
21 ~y|
T K Y &
" ' . /v [ |
s = =
E F A
[fe]
s g
T N
® I
" |
:r aééﬁw e i =
i /T
| =
26.0 MIN. f 39.0 MIN, —=

COMPONENT PARTS CEMENTED
TOGETHER WITH "LOCTITE 587"
BLUE MAX (SEE NOTE 3)

OO

16.0 NOM. (12.5 MIN.
FLAMEPATH LENGTH
WITH A MAX 0.4 GAP)

M5 X 0.8 — 6g/6H
CAP CLEARANCE HOLE
5.5/5.68 COUNTER

M4 X 0.7 — 6q/6H
SWAGED AFTER ASSY

BORE ©9.0 X 6.5 DEEP
2 13/16” 16 TPl WHlTWORTH - CLASS 2A 40 CLEARANCE AT 29 1 3558SS EARTH SLEEVE ST. STEEL (304 MIN. GRADE)
WITH 8.0 MIN. THRFAD ENGAGEMENT BOTTOM OF BOLT HOLE 28 | 6 AH201361 CONTACT SOCKET SPRING ST. STEEL
27 3 3139 MAIN SOCKET (COPPER) C14700 OR C11000 OR C10100 TO
AS/NZS 1567-1997 SILVER PL. TO AS 1856—2004
CuAqg 08
. 26 3 AH009852 10—24 UNC X 1/2" SKT HD SCREW ST. STEEL
This document forms part of the SECTION A—A 26 | 3569 EARTH RING FREE CUTTING BRASS
L H H —_ € 38500 TO AS/NZS 1567-1997
Certlflcatlon paCk_age ISS_L_led by 24 3 3587 SERIES MAIN THIMBLE (COPPER) C14700 OR C11000 OR C10100 TO
TestSafe Australia Certificate Numbers AS/NZS 1567-1997 S(I:LVAER OPBL T0 AS 1856-2004
ANZEX 143016'1 and |ECEX TSA 140033X_1 M R |N _[_ | 23 1 3570 INTERIOR MOULDING NEOPREJNS RUBBER
22 1 30968 BODY CASTING HIGH TENSILE BRASS — NOTE 7
_ A K G DE A LS C86500 TO AS 1565-1996
M | P 21 1 3197-1 PHASE CONDITION INDICATOR CAP CASTING HIGH TENSILE BRASS — NOTE 7
JoP C86500 TO AS 1565-1996
20 1 3105 INSPEC TION  WINDOW LEXAN MR10
O \‘? @ %:‘@ 1A5Tgﬁ4R 19 1 3685-2 POLARISING RIVET BRASS
18 2 AH151033 M5 X 16 SKT HD CAP SCREW ST. STEEL
©/@ @Y@ # VOLTS  6=660V 17 [ 2 AH009251 3/16" X 5/8" X 18 WASHER STEEL-ZINC PL.
° 1=11OOV 16 4 AH151015 M5 X 40 SKT HD CAP SCREW (I1S04762) ST. STEEL
N 15 1 F—AX000400 DUMMY / PHASE PLUG HANDLE NYLON
& @ ¢ O E&Z " % | 2 AH009788 3/16" X No4 U—DRIVE SCREW STEEL_ZINC PL.
X 13 1 AX004076 RATING PLATE BRASS
|EC EX TSA 140033)( 12 1 3571-3 EARTH STRAP (6mm?” MIN.) BRASS
1100V 660V ANZEx 14.3016 T o O Ao LT ST S
BMUE X1SWNGE TYPE A 9 1 3198-1 INSPEC TION WINDOW RETAINING RING FREE CUTTING BRASS
_— —_— C38500 TO AS/NZS 1567-1997
il‘gR,il(T,\Téx_xx 8 1 3115 SPACER PVC —PIPING
7 1 AH009006 6-32 UNC X 3/8" SKT HD SCREW ST. STEEL
C O N ’__l G U R A T| O N DO NOT SEPARATE WHEN ENERGIZED 6 1 CH3931ET TERMINAL LUG BRASS—TIN PL.
5 1 AX022400 127/800 DIODE —
—N O TES 4 1 3589-1 PILOT THIMBLE (COPPER) C14700 OR C11000 OR C10100 TO
AS/NZS 1567-1997
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED. T AL00S834 1024 UNC X 11/~ SKLHD SCREW ——— S
2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF AS/NZS 15471987 SILVER PL. 10 AS 18562004
ENCLOSURE WILL BE AT LEAST ONE—THIRD OF THE NOMINAL DIAMETER OF THE SCREW Culq 08
W|TH A M“\“MUM OF 3.0mm. 1 1 AH201405 CONTACT SOCKET SPRING ST. STEEL
3. ITEM No. 20 COATED BOTH SIDES APPROX 12.0mm FROM OUTER EDGE (WITH 10.0mm Sele 1 oF el P L
MIN.) BEFORE ASSEMBLY, USING ITEM 9. —
4. THE ‘SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 O b Ao = Electrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. | | o | g
5. SPECIAL FASTENERS COMPLY WITH ISO 262 WITH A TOLERANCE FIT 6g/6H AND PR ENEN T Products MINTO lNDUSTRlAL PRODUCTS
THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS STl =¥ | 28|28 =8| =[A division of CMI Operations Pty Ltd
NOT > H13 (ISO 286-2). Bl 2 GENERAL TOLERANCE £0.5 DESCRIPTION
T R REA 6. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (SO 468). [§ |22 |E |= |4= UNLESS OTHERWISE. SPECIFIED 150A 660/1100V RESTRAINED
INDUSTRIAL PRODUCTS AND —E]r 7. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE S8u|23E |a.|2 |IS ATERIAL PHASE CONDITION INDIC ATOR
MUST NOT BE LENT OR COPIED. STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. %gé THEzs|TE |2 (B8 S SEE TABLE
8. MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS. 22|EEg3|8z |28 1B=| @ SCAE NTS | P8 18/08/96 DRAWING No.
AT1ILR DO NOT SCALE DRAWING. | 9. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*—70. sgg|s3-8|2E|C3|25| =|FNST COLOUR CODING AS PER — - A3 F-045
PART No. ATI164R DIMENSIONS IN MILLIMETRES. | 10. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. £SZz55% |z | 58|88 & AS/NZS 1299 DMC Ferroves 727 -
1 | 2 3 J 4 | 5 | 6



michaelp.CMI
MPP


-~ 82.0/84.0 — =

PILOT PIN

A ON 38.0 PCD
- 23.0 MIN.
9.5 —== r

-~ 47,6

’; = \
G
! l @
& / ()
sy e |
| > RO N NN
26.0 MIN. M5 X 0.8 — 6q/6H M4 X 0.7 — 6g/6H

ITEM No. 21 CEMENTED

15.5 NOM. (12.5 MIN.
FLAMEPATH LENGTH CAP CLEARANCE HOLE SWAGED AFTER ASSY
SNMBAENOPIL’,\(‘:SOLES 2 @ WITH A MAX 0.4 GAP) 25.5/5.68 COUNTER
' - @ @ BORE ©9.0 X 6.5 DEEP

. " 4.0 CLEARANCE AT
IN WITH "LOCTITE 587
A BLUE MAXX BOTTOM OF BOLT HOLE
Th|s_ _doc_ument forms_part of the 13/16 16 TPl WHITWORTH — CLASS 2A SEC TION A—A
certification package issued by WITH 8.0 MIN. THREAD ENGAGEMENT T — R - —
TestSafe Australia Certificate Numbers — — TRt e —
ANZEXx 14.3016-1 and IECEx TSA 14.0033X-1 20 1 3559 EARTH RING FREE CUTTING BRASS
38500 TO AS/NZS 1567-1997
19 1 3570 INTERIOR MOULDING NEOPRENE RUBBER
MARKlNG DETA”_S N 18 1 30968 BODY CASTING HIGH TENSILE BRASS — NOTE 6
: - €86500 TO AS 1565—-1996
M.L.P. 17 4 AH151015 M5 X 40 SKT HD CAP SCREW (IS04762) ST. STEEL
ART#IR 16 1 3685-2 POLARISING RIVET BRASS
150A 15 2 AH151033 M5 X 16 SKT HD CAP SCREW ST. STEEL
— 14 2 AH009251 3/16” X 5/8" X 18 WASHER STEEL-ZINC PL.
# VOLTS 6=660V 13 1 F—AX000400 DUMMY / PHASE PLUG HANDLE NYLON
1=1100V 12 1 3571-3 EARTH STRAP (6mm?* MIN.) BRASS
IP66 11 1 AH151040 M4 X 8 CSK HD SCREW ST. STEEL
Ex d | Mb 10 1 AX004076 RATING PLATE BRASS
IECEx TSA 140033)( 9 2 AH009788 3/16" X No.4 U-DRIVE SCREW STEEL-ZINC PL.
8 1 3173 DUMMY PLUG CAP CASTING HIGH TENSILE BRASS — NOTE 6
ANZEX 143016 OOV C86500 TO AS 1565-1996
TYPE A 66_\/ 7 1 AH009006 6-32 UNC X 3/8" SKT HD SCREW ST. STEEL
S.O XXXXX—XX B24 BLUE X15 ORANGE 5 1 CH3931ET TERMINAL LUG BRASS—TIN PL.
WARNING 5 1 AX022400 127/800 DIODE -
DO NOT SEPARATE WHEN ENERGIZED C O N l-_l G U F\) A —|—| O N 4 1 3589-1 PILOT THIMBLE (COPPER) C14700 OR C11000 OR C10100 TO
AS/NZS 1567-1997
3 1 AH009834 10-24 UNC X 11/4” SKT HD SCREW ST. STEEL
N O TES 2 1 3138-2 PILOT SOCKET (COPPER) C14700 OR C11000 OR C10100 TO
AS/NZS 1567-1997 SILVER PL. TO AS 1856—2004
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED. Cuhg 08
1 1 AH201405 CONTACT SOCKET SPRING ST. STEEL
2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF =T on —aRT NUMBER prT— e
ENCLOSURE WILL BE AT LEAST ONE—THIRD OF THE NOMINAL DIAMETER OF THE SCREW ——
WITH A MINIMUM OF 3.0mm. -
3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 O b Ao = Electrical
ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. | | T e
4. SPECIAL FASTENERS COMPLY WITH SO 262 WITH A TOLERANCE FIT 6g/6H AND e ts e ts o Products | MINTO INDUSTRIAL PRODUCTS
THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS ST ST |S8|S8/S8|  =[A division of CMI Operations Pty Ltd
NOT > H13 (ISO 286-2). B |- = GENERAL TOLERANCE 40.5 DESCRIPTION
THIS DRAWING REMAINS 5. ALL MACHINED FLAMEPATH SURFACES AVERAGE Rs DOES NOT EXCEED 6.3um (1S0468). |¢ |Z=  |E - UNLESS OTHERWISE SPECIFIED 150A 660/1100V
INDUSTRIAL PRODUCTS AND E]r 6. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE S8elE8E, g8 |T ATERIAL RESTRAINED DUMMY PLUG
MUST NOT BE LENT OR COPIED. STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. Fps| HEZITE D |3 % SEE TABLE
7. MINIMUM TORQUE OF 10.0 Nm FOR CAP SCREWS. 452/828% g |2y |BS| & SCAE NTS |PATE 18/07/96 DRAWING No.
ARTMR DO NOT SCALE DRAWING. | 8. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*-70. sm2|s5.8|s2 |58 |20 | > |FNSH COLOUR CODING AS PER EVTY ST AB F-046
PART No. AR161R DIMENSIONS IN MILLIMETRES. | 9. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. =5Z|zz0% |z |22 |85 & AS/NZS 1299 DMC Fsesrovin esr0ir /P -
1 | 2 3 J 4 | 5 | 6



michaelp.CMI
MPP


This document forms part of the certification package issued by TestSafe Australia
Certificate Number IECEx TSA 14.0033X-3 & ANZEx 14.0016-3


michaelp.CMI
MPP


1 2 N 4
150A PLUGS
F-3587 RANGE - MAIN PHASE THIMBLE PLUG
150A 4 PIN PRODUCTS PILOT THIMBLE DRAWING
REFERENCE
PARTNo. | ID. | UTILUXDIENo. |INSERTIONDEPTH || PARTNo. | ID. | CRIMPDIENo. [INSERTION DEPTH
F-3587 3.7 38-44 Cu 20 MIN F-3589-1 3 SOLDER 10 MIN DWG MAIN PILOT
F-35870 | 6.2 38-74 Cu 20 MIN
F-3587-1 8.0 38-92 Cu 20 MIN F-235  F-3587 F-3589-1
F-3587-2 9.1 38-115 Cu 20 MIN
F-3587-3 | 102 38-115 Cu 20 MIN
F-3587-4 | 127 38-127 Cu 20 MIN
F-3587-5 | 143 | SOLDER ONLY 20 MIN
150A RECEPTACLES
F-4626 RANGE - MAIN PHASE THIMBLE F-4611 RANGE - PILOT THIMBLE
150A 4 PIN 660/1100 PRODUCTS 150A 4 PIN 660/1100 PRODUCTS RECEPTACLE
PARTNo. | I.D. | UTILUXDIE No. | INSERTION DEPTH || PART No. ID  [UTILUX CRIMP DIE] INSERTION DEPTH RDEF;‘E\X\QS&
F-4626 3.7 38-44 Cu 20 MIN 4611 3.0 SOLDER 10 MIN
F-4626-0 55 38-63 Cu 20 MIN 4611-1 37 SOLDER 10 MIN DWG MAIN  PILOT
F-4626-1 7.1 38-77Cu 20 MIN 46112 47 SOLDER 10 MIN
F-4626-2 8.4 38-92 Cu 20 MIN F-234 F-4626 F-4611
F-4626-3 95 38-104 Cu 20 MIN F-467 F-4626 F-4611
F-4626-4 | 112 38-115Cu 20 MIN
F-4626-5 134 38-142 Cu 20 MIN A DRA 16033: DRAWING ISSUED 2/02/2017 | /Y]

ThIS dOCUment fOI’I’ﬂS part Of the REV [ZONH DESCRIPTION DATE APPROVED
certification package issged by THIS DRAWING REMAINS THE Electrical
TestSafe Australia Certificate Numbers EgngEJFéTTYs?xE%U%TE%RTICAL Products M | NTO | N D U STR |AL P ROD U CTS
ANZEx 14.3016-1 and IECEX TSA 14.0033X-1 | gt 1enT OR COPIED __ .
NOTE: ' A division of CMI Operations Pty Ltd
1. MATERIAL: GENERAL TOLERANCE +0.25 DESCRIPTION MAIN PHASE/PILOT THIMBLES
(COPPER) C14700 OR C11000 OR C10100 TO AS/NZS 1567-1997 @ o ANGULAR TOLERANCE +0.5° RESTRAINED /PR ODUCT RANGE
SILVER PLATED TO AS 1856-2004 CuAg 08 (IF APPLICABLE) MATERIAL
SR SCALE DATE 22/02/2017 A4 DRAWINE N02.34 1
DO NOT SCALE DRAWING CHECKED - -
DIMENSIONS IN MILLIMETRES DRAWN  ASB

2

V)

4



michaelp.CMI
MPP


1 | 2 3 () 4 | 5 6

2 OCHENONG
ON 38.0 PCD
83.0

- 23,0 —s=t=— 18.0 MIN. ==
AN
i M I el
\ N\
\4 _4
= ]
) (] T

= L ‘

= ﬁl
Y]
— S
N
> g 1]
— &
= = | PN R>3.0 mm

f e 335 —» WITH 75°
*25.0l+
foecel) \ v v
\ \
P 7 A\ E?L X ) -
\ ]

vV XX
26.0 MIN. 39.0 MIN, ——== @
2 13/16” - 16 TPI /I r

WHITWORTH — CLASS 2A @
WITH 8.0 MIN. THREAD ENGAGEMENT

M6 X 1.0 — 6g/6H 3 MAIN SOCKETS
SWAGED AFTER ASSY ON 35.0 PCD M10 X 1.5 — 6g/6H

GLAND CAP CLEARANCE

SECTION A—A HOLE @11.0/11.22
NEOPRENE GROMMETS 2 3 4667 SERES EARTH THMBLE (COPPER) C14700 OR C11000 OR C10100 10
AS/NZS 1567-1997
PART No. CABLE ACCEPTANCE 21 7 AH151040 M4 X 8 CSK_HD SCREW ST. STEEL
3137-05 21.0-25.0 20 1 36852 POLARISING RIVET FREE CUTTING BRASS
C38500 TO AS/NZS 15671997
3137-28 24.0-28.0 19 B AH201361 CONTACT SOCKET SPRING ST. STEEL
3137-32 27.0-32.0 18 3 3139 MAIN SOCKET (COPPER) C14700 OR C11000 OR C10100 10
AS/NZS 1567-1997 SILVER PL. TO AS 1856-2004
3137-35 31.0-35.0 Cuhg 08
3137-38 34.0-38.0 660V 17 3 AH009852 10-24 UNC X 1/2” SKT HD SCREW SRS
16 1 3559 EARTH RING FREE CUTTING BRASS
3137-41 37.0-41.0 B24 BLUE X15 ORANGE C38500 TO AS/NZS 15671997
313744 40.0—44 0 15 3 3587 SERES MAIN THMBLE (COPPER) C14700 OR C11000 OR C10100 10
313748 23.0-48.0 CONFIGURATION AS/NZS 1567-1997 SILVER PL. TO AS 1856-2004
: : CuAq 08
3137-51 47.0-51.0 1 1 3570 INTERIOR MOULD\NG( : NEGPRENE RUBBER
3 3 AH113115 MI0 X 40 HEX HD SCREW (IS04017 STEEL-ZINC_PL.
3137-54 50.0-54.0 12 1 3136 CABLE CLAMPING CAP CASTING HIGH TENSILE BRASS — SEE NOTE 6
3137-57 53.0-57.0 86500 TO AS 1565-1996
ik 7 3137 SEREES CABLE GLAND GROWMET NEOPRENE RUBBER
) 10 1 AHO09006 6-32 UNC X 3/8" SKT_HD SCREW ST, STEEL
This document forms part of the 9 1 3571-3 EARTH STRAP (Bmm? MIN.) FREE CUTTING BRASS
e : C38500 TO AS/NZS 15671997
MARKING DETAILS certification package issued by 8 1 3135-18 BODY CASTING HIGH TENSILE BRASS — SEE NOTE 6
TestSafe Australia Certificate Numbers 86500 TO AS 1565-1996
M.I.P. ANZEX 14.3016-1 and IECEx TSA 14.0033X-1 7 1 35891 PILOT THIMBLE (COPPER) cwfsooNzosR 1C51‘>170-0109907R €10100 TO
AF1#4R NOTES B 1 AH009834 10-24 UNC X 11/4_SKT HD_SCREW ST, STEEL
150A 5 1 355855 EARTH SLEEVE ST, STEEL
4 VOLTS 6=660V 4 1 AH201405 CONTACT SOCKET SPRING ST. STEEL
1=1100V 1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED. S s PILOT SOCKET B A A N
IP66,/68 2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF CuAq 08
Ex d | Mb ENCLOSURE WILL BE AT LEAST ONE-THIRD OF THE NOMINAL DIAMETER OF THE SCREW ? ; :ﬁggg%g . RAT‘EG PLATE STEEERgzi -
IEC Ex TSA 14.0033X WITH A MINIMUM OF 3.0mm. 218 X Rod PR SCREW e
ANZEx 14.3016 3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 e P — HATRA.
TYPE A ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. =
S0 xXXX 4. SPECIAL FASTENERS COMPLY WITH 1SO 262 WITH A TOLERANCE FIT 6g/6H AND — x To— T & Electrical
WARNING THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS : | R
DO NOT SEPARATE WHEN ENERGIZED NOT > H13 (IS0 286-2). s s. TzolEols - Products | MINTO INDUSTRIAL PRODUCTS
5. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (lSO 468). B B =°|ge| 52 | A division of CMI Operations Pty Ltd

TS DRAWING REMAINS 6. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE | |_z2 |z | Z|ue GENERAL TOLERANCE +0.5 DESCRIPTION
STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. = ggéw = o %5 UNLESS OTHERWISE SPECIFIED /
L%%g?;’,i?;;ﬁﬁg‘??Nn —E]r 7. TERMINATION FOR CONNECTION BETWEEN THIMBLE AND CABLE IS BY UTILUX CRIMP SRR NI ATERIAL 150A 660/1100V RESTRAINED PLUG
MUST NOT BE LENT OR COPIED. DIE'S AS PER AS/NZS 4325 (IEC 1238) OR SOLDER. Fed 2285 B BE 5 | S SEE TABLE
8. MINIMUM TORQUE OF 25.0 Nm FOR CABLE CLAMPING CAP SCREWS. sEEEEEETIHE L SCALE NTS|PATE 18/08/89 DRAWING No.
AFNM4R DO NOT SCALE DRAWING. | 9. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*-70. spdss2 w82 (o5 sES = |[FNsH  COLOUR CODING AS PER S T AB F-235
PART No. AF164R DIMENSIONS IN MILLIMETRES. | 10. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. g%%g;égg g5 ETY = AS/NZS 1299 DMCWM* -
1 | 2 | 3 VY B | 5 | 6



michaelp.CMI
MPP


JA>

~— 67.0/69.0 —=

38.0 30.0

A il / 8&0;8%”“%[)
N\ /
o) é f . ZN
@W 3 S . = T :
i | - _— ﬂ / gg
6.3 T | ~6.3
| \ By N }
/ﬁ# /{Kx&/ T @
2 26.0 MAX 65.0 MAX —p=

ke 37.0 MAX
- 59.0,/61.0 —== 84.0

@11.0 HOLE
FOR PADLOCK

[0

3 MAIN PINS 25.0° MIN.
ON 35.0 PCD le—— 86.0,/90.0 ——=
‘ @ 26 1 4117B BODY CASTING HIGH TENSILE BRASS — SEE NOTE 7
C86500 TO AS 1565-1996
M4 X 0.7 — 6g/6H 25 1 40435 SKID_PLATE__(OPTIONAL) STEEL-ZINC PL.
A SWAGED AFTER ASSY 24 3 4106 MAIN PIN (COPPER) C14700 OR C11000 OR C10100 TO AS/NZS
1567-1997 SILVER PL. TO AS 1856—2004 CuAg 08
23 2 3028 SCRAPING EARTH CONTACT PHOSPHOR BRONZE
SEC T| O N A_ A 22 2 AH151016 M4 X 20 CH HD SCREW BRASS
MARK”\]G DETA”_S 21 3 4107 MAIN PIN INSULATOR PTFE
20 1 411 INTERIOR PLATE FREE CUTTING BRASS
C38500 TO AS/NZS 1567-1997
M.I.P. 19 1 4112 INTERIOR RETAINING PLATE FREE CUTTING BRASS
€ 38500 TO AS/NZS 1567-1997
1A5|_|3§4B 18 2 4401-2 SEAL NEOPRENE RUBBER
17 1 AH115093 M8 X 15 SKT HD CAP SCREW STEEL-ZINC PL.
# VOLTS 6=660V 16 6 AH001163 EXTERNAL CIRCLIP 1/2" MILD STEEL
1=1100V 15 1 AX004076 RATING PLATE BRASS
|P66/68 14 2 AH009788 3/16” X No.4 U-DRIVE SCREW STEEL-ZINC PL.
4 e e e ey ——
IEC Ex TSA 14.0033X 1 1 4108 PILOT PIN (COPPER) C14700 OR C11000 OR bwowoo TO AS/NZS
ANZEx 143016 1567-1997 SILVER PL. TO AS 1856-2004 CuAq 08
TYPE A 10 4 AH009280 1/2" X 1" x 16 _WASHER STEEL—-ZINC PL.
9 2 AH009008 7/16” UNF _NYLOC NUT STEEL—-ZINC PL.
S.0 xxxxx—xx 660\/ 8 1 4110 PILOT PIN INSULATOR SLEEVE PTFE
WARNING YR “AD A 7 1 4109 PILOT PIN_INSULATOR PTFE
DO NOT SEPARATE WHEN ENERGIZED NOTES bas UK XI5 ORANGE o AHODZ96 R e
_— = = L—ZIN .
CONFIGURATION | 2 4037 JACKING SCREW SPINDLE ST__STEEL
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED. 7 33978 JACKING SCREW PAWL O e e an
2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF 2 2 AH002987 1/4" X_7/8" SELLOCK_PIN STEEL—ZINC PL.
e f - ENCLOSURE WILL BE AT LEAST ONE-THIRD OF THE NOMINAL DIAMETER OF THE SCREW ST B AR o T T
T IS. ( OC.Ument Orlﬂs.parto the WITH A MINIMUM OF 3.0mm. —
certification package issued by 3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 —
TestSafe Australia Certificate Numbers ELEC TRICAL EQUIPMENT FOR MINES AND QUARRIES. Ll O OoOm<t = Electrical
ANZEX 14.3016-1 and 4. SPECIAL FASTENERS COMPLY WITH ISO 262 WITH A TOLERANCE FIT 6g/6H AND , | LT =
THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS e Products | MINTO INDUSTRIAL PRODUCTS
IECEx TSA 14.0033X-1 8. 2., |22 24545 =
: NOT > H13 (ISO 286-2). ST =7 | @8 | 3|38 =[A division of CMI Operations Pty Ltd
5. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ro DOES NOT EXCEED 6.3um (ISO 468). [z  |_ - GENERAL TOLERANCE 0.5 DESCRIPTION
T R REA 6. ALL FLAMEPATH LENGTHS/DIAMETERS/SIZES ARE MIRROR FOR BOTH SIDES OF BACK T0 |§ |Za |%_ |_Z UNLESS OTHERWISE SPECIFIED 150A 660/1100V
INDUSTRIAL PRODUCTS AND —6 BACK RECEPTACLE. SHelERs |Sw |82 MATERIAL RESTRAINED B/ RECEPTACLE
MUST NOT BE LENT OR COPIED. 7. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE FoEflesgte (2218 2 SEE TABLE
STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. 42828552 |52 7 | & SCALE NTS |DATE 09/12/88 DRAWING No.
AH114B DO NOT SCALE DRAWING. | 8. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*-70. se2ls=-uwsoz/®5| 2 | > |FNSH  COLOUR CODING AS PER SEEE AB
PART No. AH164B DIMENSIONS IN MILLIMETRES. | 9. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. =25:28525585 | 5 | & AS/NZS 1299 PRAN DMC Fosroes /27— F-308
1 | 2 3 J 4 | 5 6



michaelp.CMI
MPP


This document forms part of the certification package issued by TestSafe Australia
Certificate Number IECEx TSA 14.0033X-3 & ANZEx 14.0016-3


michaelp.CMI
MPP


1 | 2 | 3 N 4 5 6
A 00 500 ® @
~e— 67.0/69.0 —»
38.0 30.0 \ [ 36.0 MAX
|
NN NN K
- 28.0 ‘ _ 211.0 HOLE
33.0 T 1 / FOR PADLOCK
15.0 | N
PILOT PIN |
" ON 38.0 PCD - Z < — f
N % /] %
R o> - ®
TL/IE AN} A/ )
[ % o - S = oS
L H L - @
NN SS R > > S = Q©
L
iy { N M } S @
J I —F 33 ;
\ [SES]
| J’6 3 /
I %
Al / -
7 7]
‘ 1]
I 4 26.0 MAX 25.0 MIN.
3 MAIN PINS ~=—59.0/61.0 —= 84.0 ——= 5.0 MAX —==
ON 350 PCD 86 0/90 O 29 1 4117BQR BODY CASTING HIGH CTBE(I;ISS(I)LOE T%R;:SSSW;%SE%S(?TE 7
: M4 X 7 _ H 28 1 4043S SKID_PLATE (OPTIONAL) STEEL-ZINC PL.
O~ 69/6 27 3 4106 MAIN PIN (COPPER) C14700 OR C11000 OR C10100 TO
A @ SWAGED AFTER ASSY AS/NZS 1567-1997 SILVER PL. TO AS 1856—2004
CuAg 08
26 2 3028 SCRAPING EARTH CONTACT PHOSPHOR BRONZE
SEC T|ON A_ A 25 2 AH151016 M4 X 20 CH HD SCREW BRASS
24 3 4107 MAIN PIN INSULATOR PTFE
MARK'NG DETA”_S 23 1 411 INTERIOR PLATE C385gEEEOCi;TIE§SBEg§S_1997
22 1 4112 INTERIOR RETAINING PLATE FREE CUTTING BRASS
38500 TO AS/NZS 1567-1997
M.I.P. 21 2 44012 SEAL NEOPRENE_RUBBER
AH1#4BQR 20 1 AH115093 M8 X 15 SKT HD CAP SCREW STEEL-ZINC PL.
150A 19 6 AH001163 EXTERNAL CIRCLIP 1/2” MILD STEEL
- 18 1 AX004076 RATING PLATE BRASS
# VOLTS 16_161%%\</ 17 2 AH009788 3/16” X No.4 U-DRIVE SCREW STEEL-ZINC PL.
= 16 4 AH115135 M6 X 35 SKT HD CAP SCREW STEEL-ZINC PL.
IP66,/68 5| 6 AHT13111 MI0 X 16 HEX HEAD SCREW STEEL=ZINC PL.
Ex dl Mb 14 1 4035 LIFTING HANDLE STEEL-ZINC PL.
IECEx TSA 140033)( g ? F‘;%589 Q/R LOCE‘\LN(;STN;ENCHANISM BRASS ST. STEEL
(COPPER) C14700 OR C11000 OR C10100 TO
¢$§ng14.3016 AS/NZS 1567-1997 SILVER PL. TO AS 1856-2004
S.0 X=X 11 1 4109 PILOT PIN INSULATOR CuF’A19FEO8
. 10 1 4110 PILOT PIN INSULATOR SLEEVE PTFE
WARNING 1100V 660V 9 1 AH002965 1/8" X 5/8" SELLOCK PIN STEEL—ZINC PL.
DO NOT SEPARATE WHEN ENERGIZED e %15 ORANGE 8 | 2 42544 JACKING RACK ST. STEEL
N O TES B24 BLUE 7 2 4262 Q/R_PAWL ST. STEEL
6 2 AH151013 M16 NYLOC NUT STEEL-ZINC PL.
5 2 4287 JACKING RACK PINION ST. STEEL
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED. C ONFIGURATION 1 s T PON B e
2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF > | 2 ATI09268 7716 X 778 X 16 WASHER STEEL-ZINC_PL
. ENCLOSURE WILL BE AT LEAST ONE-THIRD OF THE NOMINAL DIAMETER OF THE SCREW 12 AHO0S008 7/16” UNF NYLOC NUT STEEL-ZINC PL
Th|S document fon‘ns part Of the WITH A MINIMUM OF 3.0mm. ITEM QTY PART NUMBER DESCRIPTION MATERIAL
certification package issued by 3. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS 1299 : Parts List
TestSafe Australia Certificate Numbers ELEC TRICAL EQUIPMENT FOR MINES AND QUARRIES. L Ll O Om & Electrical
ANZEX 14.3016-1 and 4. SPECIAL FASTENERS COMPLY WITH ISO 262 WITH A TOLERANCE FIT 6g/6H AND | | | C =
) THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS < = ~ = ™ Products MINTO lNDUSTRlAL PRODUCTS
IECEx TSA 14.0033X-1 8.] 84| 24 |26 |8g] =
5 L\‘L(I)_TM?CH:Iﬁ\IE(IIJSOFLiSM%Ei)T.H SURFACES AVERAGE ( ) ST ST | ET 2 5T 84 duision of OMI Operations Ply L
. Ra DOES NOT EXCEED 6.3um (ISO 468)[z S e
THIS DRAWING REMAINS =R - = 5 |Zg8 GENERAL TOLERANCE +0.5 DESCRIPTION
THIS DRAWING REMAINS 6. ALL FLAMEPATH LENGTHS/DIAMETERS/SIZES ARE MIRROR FOR BOTH SIDES OF BACK TO[§ |2  |[Ep=q¥5L| UNLESS OTHERWISE. SPECIFIED 150A 660/1100V Q/R
INDUSTRIAL PRODUCTS AND — BACK RECEPTACLE. SHelEES EEaess| 8 MATERIAL RESTRAINED /B RECEPTACLE
MUST NOT BE LENT OR COPIED. 7. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE EogfluzdiorElez o = SEE TABLE
STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. SEE3zoE3L=EEES & = SCAE NTS |PATE 09/12/88 DRAWING No.
AHMLBAR  [po NoT SCALE DRAWING. | 8. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*—70. Srols=-Hsa29s28 2 | >|FNSH COLOUR CODING AS PER AB
PART No. AH164BQR | DIMENSIONS IN MILLIMETRES. | 9. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. =i5ze82z05529 § | & AS/NZS 1299 PRAN DMC s — 99— F-468
1 | 2 3 J 4 | 5 | 6



michaelp.CMI
MPP


1 | 2 3 N 4 5 6
-~ 794 ————— >
[————— = —
[
/ james) \
- 4R\ 4D\
pE q
(<o)
= A T
o S 10.0 MIN. THREAD <
~ 5 ENGAGEMENT =
o 5 (ENTRY THREAD SEE o
= 4629 SERIES TABLE) =
L l ¢
o
fe]
H N 4R
u \kj \ -
13.9 NOM. (12.5 MIN.
o soris G o
COUNTER BORE ©30.0 : 013.5/13.77
- X 8.5 MIN. DEEP of
A SEC TION A—A
MARKING DETAILS
“F"'_'f@g_## 4629 SERIES
44 ENTRY, THREAD PART No. DESCRIPTION ENTRY THREAD
IP66,/68 F—4629-16 M16 GLAND ADAPTOR M16 X 1.5—6H
Ex d | Mb F—4629-20 M20 GLAND ADAPTOR M20 X 1.5—6H
IECEx TSA 14.0033X F—4629-25 M25 GLAND ADAPTOR M25 X 1.5—6H 8 | 1| 4629 SEREES GLAND ADAPTOR HIGH TENSILE BRASS — NOTE 5
ANZEx 14.3016 F—4629-32 M32 GLAND ADAPTOR M32 X 1.5-6H : C86500 TO AS 1565-1996
TYPE A 152940 M40 GLAND ADAPTOR M40 X 1 56H 7 | 1 AI019011 O'RING ID 91.67 X SECT 3.53 NITRILE
@EF;NTQE”‘” F—4629-50 M50 GLAND ADAPTOR M50 X 1.5—6H g 1 22;855247‘73 _ EARTH STRAP STEEERQEE -
F—4629-63 M63 GLAND ADAPTOR M63 X 1.5—6H 5/16 X 5/8 X 18 WASHER - ~
DO NOT SEPARATE WHEN ENERGIZED K AH009363 5/16" SQ SECT SPRING WASHER STEEL-ZINC PL.
3 1 AH113091 M8 X 10 HEX HD SET SCREW STEEL-ZINC PL.
NOTES EQUIPOTENTIAL EARTHING SCREW
2 2 AH009788 3/16” X No.4 U-DRIVE SCREW STEEL-ZINC PL.
1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED. N AX004076 RATING PLATE BRASS
_ 2. IN CASE OF HOLES FOR SCREWS, THE REMAINING THICKNESS OF THE FLAMEPROOF ITEM| QTY | PART NUMBER DESCRIPTION MATERIAL
This document forms part of the ENCLOSURE WILL BE AT LEAST ONE—THIRD OF THE NOMINAL DIAMETER OF THE SCREW E—.
certification package issued by WITH A MINIMUM OF 3.0mm. _
TestSafe Australia Certificate Numbers 3. SPECIAL FASTENERS COMPLY WITH 1SO 262 WITH A TOLERANCE FIT 6g/6H AND | =& Electrical
THREAD ENGAGEMENT IS > THE MAJOR DIAMETER AND THE CLEARANCE HOLE IS =
ANZEX 14.3016-1 and D ey 52 AN Products | MINTO INDUSTRIAL PRODUCTS
X : - 4. ALL MACHINED FLAMEPATH SURFACES AVERAGE Re DOES NOT EXCEED 6.3um (ISO 468). S5 | =[A division of CMI Operations Pty Ltd
5. MATERIAL HIGH TENSILE BRASS C86500 TO AS 1565-1996 WITH A MINIMUM TENSILE
T R REA STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. _ SE‘TE@LOHEERF\QN/TSNE IESPJ‘E%'|?|ED PESCRITION 150A GLAND ADAPTOR
DU TR ORODUCTS D _E]r 6. MINIMUM TORQUE OF 10.0 Nm FOR GLAND ADAPTOR NUTS. 2 e
MUST NOT BE LENT OR COPIED. 7. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*—70. = = SEE TABLE
8. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. g2o| 2 SCHE NTS [PAE 01/09,/14 DRAWING No.
DO NOT SCALE DRAWIG. | 9. THE 150A GLAND ADAPTOR FOOT PRINT IS IDENTICAL TO THE 150A RECEPTACLE et =[N e AB F-4629
PART No. SEE TABLE |DIMENSIONS IN MILLIMETRES. FOOT PRINT. =3g| & NATURAL PRANDMC Hesroes 77 B
1 | 2 3 J 4 | 5 6



michaelp.CMI
MPP


OBrishane 4854 Zillmere Road Zillmere QLD 4034
Postal Address PO Box 642 Virginia QLD 4014
Telephone: (O7) 2863 0749 Facsimile: (07) 2862 0796

0 Sydney 1320 Railway Road Meadowbank NSw 2114
Postal Address: Locked Bag M3 Meadowbank NSW 2114
Telephone: (02) 9807 6166 Facsimile: (02) 9808 2033

O Melbourne 35 Dissik Street Cheltenham VIC 3182 ORockhampton =hop3, 76 Hollingsworth St

. . Telephone: (032) 25322 1233 Facsimile: (03) 85632 3502 MNorth Rockhampton QLD 4701

A division of CMI Operations Pty Ltd P _(_ ) (=) P Q

ABN 87 088 279 270 O Perth 36 Division Street Welshpaol WA 6106 Postal Address: PO Box 1124 North Rockhampton QLD 4701
Telephone: (08) 9358 1788 Facsimile: (08) 9358 1733 Telephone: (07) 4921 0978 Facsimile (O7) 4921 0981

For all account enguiries Phone (02) 8378 1320 Fax (02) 9808 4977

Electrical
Products

Termination and Maintenance Instructions for 150 AMP 660/1100/ VOLT
Restrained Range

The equipment is certified IECEx TSA 14.0033X and ANZEx 14.3016 (maximum operating temperature 150°C) and is designed to AS/NZS1299,
IEC 60079-0 & 60079-1. It is recommended that the equipment is overhauled at intervals that do not exceed the requirements of AS/NZS2290.1.

Maintain to the requirements of AS/NZS3800 and AS/NZS1747 by suitably competent persons.

Installation
e  Confirm components suitable for application e.g. thimbles and grommets suitable for the conductors and cable.

e  Plug fitting cable preparation.
1. Slide the gland cap, neoprene cone and plug body along the cable.
2. Prepare the cable to the dimensions given in the strip back table (below).
3. Crimp or solder the thimbles to the phase, pilot and earth cores.

Strip Back Dimensions (mm)

A (Phase) B (Earth) C (Pilot)

AF114R /AF164R 100 90 110

NB. Cables with semi conductive phase screening shall have the semi conductive screen removed back to the outer sheath.

e  Plug fitting
4. Fit the conductors to the appropriate location securing in place with screw through socket where appropriate

5. Assemble the plug, ensuring the interior rotation conforms to AS/NZS1299
6. Then fit dust cap (F-274L). Care should be taken not to damage the earth sleeve flamepath.
7. Slide the neoprene cone into position and bolt the gland cap firmly to the body.
Minimum torque of gland cap and nuts screws is 25.0Nm.
8. Test as per the requirements of AS/NZS1747.

e  Connection of Protective Earthing Conductors
e This range of plugs & receptacles has facility for earthing conductors up to 50> mm.
e |tisthe responsibility of the installer to determine and fit the correct sized earth conductors.

NB. Consideration should be given to using a strain relief anchor on the cable to prevent the cable from being pulled from the back of the
plug, if cable is subjected to tension.

e  Receptacle fitting
a. For Receptacle mounting dimensions refer to AS/NZS1299. The flange flamepath used to assemble

the receptacle and Exd enclosure shall have a minimum width 12.5mm and maximum gap 0.4mm.

b. Terminate conductors as per point 3 above.

C. Fitthe conductors to the appropriate location securing in place the phase thimble with screw provided
through the main pin and securing in place the pilot thimble with the threaded pilot pin.

d. Attach to enclosure via special fasteners.
The special fasteners and/or nuts shall be of minimum grade 4.6 (yield stress 240MPa)

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced or

copied in any form or by any means without the written permission of Minto Industrial Products.
a\-\ag“"'em

TRP-6 150A Restrained Termination and Maintenance instruction

RevD 02/05/2018
N ;S
. mioto oAFLEx CABLES cables ®umm~n CABLES
g Global-Mark.com.au®

"4y
‘PO
©
=]
=

Gua;,—,’



0 Sydney 1320 Railway Road Meadowbank NSw 2114  OBrishane 4854 Zillmere Road Zillmere QLD 4034

Electrica' Pastal Address: Locked Bag M3 Meadowbank NSW 2114 Postal Address PO Box 542 Virginia QLD 4014
Products Telephone: (02) 9807 6155 Facsimile: (02) 9808 2033 Telephone: (07) 2863 0742 Facsimile: (07) 2863 0795
O Melbourne 35 Dissik Street Cheltenham VIC 3182 ORockhampton =hop3, 76 Hollingsworth St
. . Telephone: (032) 25322 1233 Facsimile: (03) 85632 3502 MNorth Rockhampton QLD 4701
A dvision of CMI Operations Pty Ltd ap l’tfl 36 D'(' ) Street Welshpaol WA élo)e Postal Address: [IJZ’O B?JX 1124 Narth Rockhampton QLD 4701
ABN &7 088 279 270 e ivision Street Welshpoo .

Telephane: (08) 9258 1788 Facsimile: (08) 9358 1732 Telephane (07) 4921 0978 Facsimile: (07) 4921 0981
For all account enguiries Phone (02) 8378 1320 Fax (02) 9808 4977

Use

e Isolate power before connecting or disconnecting.
Assembly

e  Ensure sockets are clean and serviceable.

e  Correct pin alignment.

e Insert plug using receptacle operating mechanism.

NB. For quick release mechanism, ensure the locking button is fully home.

Disassembly

e Toremove plug from receptacle utilise the operating mechanism.
NB. For quick release, lift the locking button first.

e  Fit dust cover to plug and receptacle.

Maintenance
e Inspection shall include cleanliness and compliance with certification documentation.
e Check as per AS/NZS2290.1

Overhaul and Repair
e To be carried out by suitable workshop.

Conditions of use
e Some flameproof joint (flamepath) have dimensions that are different than the values given in tablel of IEC60079.1. Refer to the
manufacture’s drawings for details._

e The special fasteners used to assemble the plug and gland shall be minimum grade 4.6 (yield stress 240MPa) or for stainless steel
minimum grade A*-70 (Yield stress 450MPa).

e Operating temperature range -20°C to +40°C and average temperature over 24 hours is not to exceed 35°C.

Mounting Details

138.0 *
79.4
PR P
o, N,
% _—~076.0 MAX.
P
o 9
g o
~
[so}
un
D P
NP, O

* Dimensions shown is the Enclosure Machining Area.
Untoleranced dimensions +0.25

NB. Receptacle and Gland Adaptor mounting fasteners are to comply with AS/NZS 60079.0 and.1.

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto

Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or

omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced or

copied in any form or by any means without the written permission of Minto Industrial Products.
. e . . . oageMen,

TRP-6 150A Restrained Termination and Maintenance instruction &

RevD 02/05/2018

"4y
‘PO
©
=]
=

“ . . @' o
( . mioto AFLEX CABLES cables HARTLAND CABLES
e GIobaI-Malk.com.au@'

Gua;,—,’




	AV1 Rev B ( 150 Amp Mounting Bracket RGB) Red
	F-045 Rev G (150A  660 1100V PCI Plug) Red
	F-046 Rev G ( 150 Amp 660 1100V Dummy Plug) Red
	F-234 Rev J (150 Amp 660 1100V Restrained Receptacle) Red
	F-234-1 Rev A (150 Main-Pilot Thimble Range) Red
	F-235 Rev L (150 Amp 660 1100V Restained Plug) Red
	F-308 Rev E (150 Amp 660 1100V Restrained B to B Receptacle) Red
	F-467 Rev H (150 Amp 660 1100V Restrained QR Receptacle) Red
	F-468 Rev F (150 Amp 660 1100V Restrained QR B to B Receptacle) Red
	F-4629 Rev A (150 Amp Gland Adaptor) Red



